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Lever

Topic task
1. The lever is in equilibrium because the same weights are suspended in the same place on both sides
2. Yes, it does: the lever lowers on the side where the weight has been “bent” outwards since the weight is no longer the same.


[image: ]
This can be compensated by bending the weight outwards on the other side as well.

Experimental tasks
1. The lever arm is raised on the left-hand side
2. The weight on the right-hand side has to be moved by two holes towards the lever arm as well.
3. [  ] smaller		[x] larger
The distance of the right-hand weight has to be larger to establish equilibrium.
If the weight increases, the distance to the fulcrum has to be decreased and if it decreases, the distance to the fulcrum has to be increased, in order to compensate the counterweight and establish equilibrium.

4. The weight almost has to be right at the end of the lever to get the lever into equilibrium.
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